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Group - A ‘
( Multiple Choice Type Questions )
g - A
( o famedia Wy )
1. Choose the correct alternative for the
following : : 1x15=15
Fpfeifaa o @ wEt faseq g -

a). The technology used in manufacture of
first generation computers is
L;)/ Vacuum tube
iij Transistors
iiij ICs
iv) None of these.
were i) el & TR0 A W e €
i) Trama o
i) gt
iii) IC
iv) FHEHE T
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The computer language that is specially

designed for the fifth generation of
computers is

i ALGOL ii) BASIC

iiij SNOBOL iv) LISP.

gl digh & wEEdl % fog v w9 A

| festrg &1 g8 Frget oI &

ij ALGOL iy BASIC
iiij SNOBOL iv) LISP.

The optical devices among the following

is/are
ij MICR i) Barcode reader
iiij Scanner iv) All of these.

fer o Wl feamgw B & 2
i) MICR ij) aN@IE I
i) R iv) & 8w
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d)

The time taken to initiate a transfer is
called

i) Seektime

ii) Rotational delay

i) Data transfer rate

iv) Disk latency.

Fa i

Wi ® YA ¥ R forn

T T &

) fo®eEm
ii) v fet
i) ém:c:ﬁmar
iv) fems v

The symbol that is represented using

rhombus in a flowchart is
i}  Terminal

i) - Decision

iii) ‘Input / Output

iv) None of these. _
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frt vl § e @ wET w el
A § | :
i) e
if) fefawm

i) IYE / ALY

iv) T | s T |

In C++ every statement ends with
i) colon(:)

ii)y comma/(,)

iijj semicolon ( ;)

iv) cit?t ()
C++ﬁ§lﬁ‘4‘$w§‘7 ﬂﬁ’}lfﬂt_ﬂ%

§) e ()
i) ®E()
i) R ()

iv) S (.)
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A set of relational operators are
1] Ty *r K: %

i.l] - > L, 3=, <=, == 0=

i) &8s, |, !

v ?:
NeRMd ey &1 99499 &
)+ %

i) >, < 5=, <=, == 1=

i) &b, ||, !

W) ?: hup://www.jharkhandboard.com

In C++ programming strcat () function
is used to

i) concatenate two strings
ii) copy two strings
1ii) compare two strings

iv) none of these.
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C++ WU I streat () BHE & F j) - Do...while loop checks the condition of
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et

i) 2 i agEtd 50 3

i) e e w5 e %‘q’

i) & T F o e o

iv) 39 H ST T

In C++ programming ‘\t’ is used for
i) Form feéd

1} Line brake

iij) Horizontal Tab

iv) Alarm.

C++ WITIAT & “\¢’ o7 W& g &
i) wRE % fo

if) W b o ford

iii) &ferea s fed

iv) 3 &q)
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k)

) top i bottom
ilij middle

Do...while T evvoereenens H T @ S

iv) none of these,

 H gL

)
i) 9
ifi) e
1v) ELER HIS el |
Which of the following is not the type of
variable ?
1) hExtern i)

iii) Global

Register

, iv) None of these.
ﬁ:ﬁﬂaﬁ"mﬁ%mqﬁ% ?

i) T | -

W) R

§/16 -
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) 6l4inoctalis ... in decimal. g g W AEA ¥ LRl RIS
' g - i) EBCDIC
1) 396 i) . 369 ij ASCI ii) ECED
it | ii) Excess-3 v} :
m) 366 iv] 400, ] L o
- ‘ | o] One Gigabyte is a group of ........... bits.
AR UG ¥ 614 090/ T & i) 8
: ) | i) 8x 1024
3% )36 i) 8 x 1024 x 1024
i) 366 iv) 400, " iv) 8x 1024 x 1024 x 1024,
m) 1AS in hexadecimal is ... in f{lﬁﬁmﬁﬁza oo, T T T T B
. g
dgcunaL H) 81024
i 241 i) 421 iii) 8x 1024 x 1024
' v) 8x 1024 _
i) 142 iv) 359. ) 8x x 1024 x.1024.
SZEIed H 1AS 29Her H & | Group - B
. | ( Very Short Answer Type Questions )
) 241 i) 421 i
iii) 142 - iv) 359, | g S N
n) The code that is easier to use on , 011222
| punched cards is 2y Define Arithmetic and Logic Unit (ALU) of |
ij AScn - ii 'EBCDIC - computer system. o
i) Excess-3  iv) BCD. PR e @ i e qw afes
| ) THE (ALU) H aiesmT i
9/ 16 _ |
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\/ What do you understand by a software ? -

4.

"

TR ¥ A ¥ )
Define.a computer memory.

Define and differentiate between data and |

information.

TR T GO Pl GRG0 qo 399 iR
T |

What do you mean by a keyword ? Can a

keyword be an identifier ?
FEE ¥ AUH T OHNE € 2 ® OFEE

AR EEER o THA1 8 ?

Differentiate between getch () and getche ()
functions. | _ '
getch () 7 getche () HevHT # ST i
How many ca;tcgories of data types are
provided by C++?

Cis FRT TR ife & @1 PR B HEr fwar

AT E ?
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10.

11.

12,

What will ‘be result of the following

expressions whenA=6,B=Tand C=87 |
o5 A= 6, B=7 0 C=87 syt
1 oo W 2

i} D= A+C%B

iy D=A+B*5-C
Differentiate between break and exit ( 0)
statement.

S o R (0 ) FA H 3T L

Convert the following real binary num.berS'
to equivalent decimal numbers : |
f ared e SEHa W Aqed S
e § aEie '
) 111111

i) 10101-01.

Convert the following decimal numbers to
equivalent binary numbers :

ﬁﬂwmﬁﬁwﬁmwﬂﬁ

R
i 5539
W 7777
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Group-C
( Long Answer Type Questions )
Tg - g
( St JadtT wy )
3 :-c 11 =233
13.-

What are the functional components of a
‘computer’ ? Define each unit of jt clearly.
el Fget & v gew wR-d § ) sue
i 318 B W w7 Ty iy |

Draw a flowchart to find out the simple
mterest on the given principal, rate and
time. hip:/ www jharkhandboard.com

W HeTeH, T qUT 999 W el sE1T FeTert &
A Gifau|

Write a program in C++ to enter -any two

.numbers and print the sum, difference and

product in separate line with appropnate
message.

ﬁ#fa’rﬂ@mﬁﬁn&fﬁzﬁaﬂsﬂ?ﬁw%w
Yo @ H A AE, R au PHEA e

T ¥ C++ o T o fed
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16. What do you mean by constants ? Deﬁne all

available types of constants in terms of C++,

i @ S N ARE § 2 Cr+ F W A

ITer W R % FrriE @t aReTST SR

and cube of entered integer number.

e wits e & af qn w PR i |
_C*+ﬁ’Q?ﬁﬁ|'uTﬂifﬁI§|

18. Write a program in C++ to print the :

followmg shape :

ﬁmmﬁ&zm%mcﬁﬁ@m
ford -

* * * * %
* * * *

* * *

* *

H
|
T

|
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17. Write a program in C++ to find the square ‘
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following series :

S=1+2+3+4+ .. upto nth term.

 §=1+2+344+... ndTdH|

20.

-"mﬁn@mwm%?a@mﬁwm'

‘What do you understand by sorting arrays ?
"‘ﬁhat are the main sorting techniques ?

Dcﬁne any one.

aﬁq% :afa»-ﬂ’tnrﬁﬁqﬁwm

21. Wnte a program in C++ to exchange the

entered two numbers by using a call-by-
reference method. '

e AT Y=g Fafy T S gRY e @ e
-9 FA 8] C++ T s fefan
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19, Write a program in C++ to find the sum of
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\/ What is an event programming ?

\'2}3.

o7 ST e ?

Give the full forms for the following terms of
computers :

FIGEA o R URT T o7 FY ST
i DRAM

i) EPROM

iii) CMOS.
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